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101. Who is said to be the father of Green Revolution in India?
(A) G.V.K. Rao (B) Hargovind Khurana
. M.S. Swaminathan (D) H.K. Jain
102. Dr. C.T. Patel developed first commercial hybrid of which crop?
(A) Sorghum (B) Maize
. Cotton (D) Paddy
103. What is the climate of Gujarat?
(A) Tropical wet dry (B) Humid
(C) Temperate . Semi arid & arid
104. National Dairy Research Institute is located at?
(A) New Delhi (B) Hisar
(C) Ludhiana . Karnal
105. A process plants perform in sunlight for synthesizing food is known as
(A) Photorespiration . Photosynthesis
(C) Phototropism (D) None of these.
106. Bt cotton was developed using a gene from
(A) Fungus (B) Actinomycetes
. Bacteria (D) Virus
107. The headquarter of which international institute is situated in Hyderabad?
(A) CIMMYT (B) IRRI
@ 1crisar (D) IFPRI
108. Which of the following will reduce soil erosion?
. Afforestation (B) Deforestation
(C) High rainfall intensity (D) High wind velocity
109. ICAR-DGR, Junagadh works on which crop?
(A) Wheat (B) Mustard
. Groundnut (D) Bajra
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110. Gujarat is the important producer of
(A) Cardamom (B) Pepper
. Isabgul (D) Betelvine

111. Technique to control shape, size and direction of plant growth is known as
(A) Topping (B) Thinning
. Training (D) Disbudding

112. What describes the status of soil fertility and other parameters to farmers?

(A) Kisan card (B) Copy of index

. Soil health card (D) None of the above
113. Which chemical is responsible for ripening of fruits?

(A) Methylene . Ethylene

(C) Propylene (D) Nitrous oxide

114. Which of the buffalo breed is not from Gujarat?
(A) Surti (B) Jafrabadi
(C) Banni . Murrah

115. Difference between climate and weather is that?
(A) Weather is the long term effect
. Climate is the long term effect.
(C) Climatic condition will change daily

(D) Both are synonyms and no difference.

116. Which of the following is not responsible for GHGs emission?
(A) Organic manures (B) Rice fields
(C) Ruminant cattle . Seeds

117. Which crop is suggested to be cultivated for biodiesel production in waste lands?
(A) Corn (B) Oil palm
(C) Soybean . Jatropha

118. Which breed of cows of Gujarat is very popular in Brazil?

(A) Kuchchhi (B) Kankrej
(C) Dangi @® cir

AHS - MASTER | 14 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


119. Piercing and sucking type of mouth part is found in

(A) Grasshopper . Aphids
(C) Beetles (D) None of the above

120. What is the pH of sodic soils?
(A) 7.0 (B) 8.0
@ 3.5 and above (D) 7.5

121. Which of the following is not a hill millet?
(A) Banti @ niger
(C) Vari (D) Kodra
122. Moisture conservation using a polythene and/or organic/inert material covering the soil is
primarily meant for
(A) Easy cultural operations (B) Sustained development

. Mulching (D) None of the above

123. PPV & FR Act was enacted for the protection of
(A) Plant products . Plant varieties

(C) Plant nutrients (D) Plant hormones

124. Who announced Rashtriya Krishi Vikas Yojana (RKVY)?
(A) Shri. Atal Bihari Vajpayee . Dr. Manmohan Singh
(C) Shri. LK. Gujral (D) Shri. Narendra Modi

125. Which organization is working as national repository for plant genetic material?
@ nBrGr (B) IARI
(C) CSIR (D) NRCPB

126. CBD stands for which international movement?
(A) Conservation of biodiversity
. Convention on biological diversity
(C) Convention of biotechnology departemnts

(D) None of these
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127. A treaty signed in 2004 for benefit sharing of genetic resources in agriculture sector?

(A) UPOV (B) GATT
@ 11rGRFA (D) WTO
128. Which light(s) causes Emerson effect in photosynthesis?
(A) White B) UV
. Red and far-red (D) Yellow and green
129. In which soils infiltration rate is poorest?
(A) Sandy loam . Clayey
(C) Sandy clay (D) Sandy
130. A soil is called calcareous due to presence of high
(A) Nitrogen . Calcium carbonate
(C) Phosphorus (D) Potassium
131. Which clay mineral has high cation exchange capacity?
(A) Illite (B) Kaolinite
(C) Organic matter . Montmorillonite
132. Sowing of a second crop at the maturity stage of first crop is known as
(A) Strip cropping (B) Mixed cropping
(C) Contour cropping . Relay-cropping
133. What is the critical ESP in a loamy soil to categorize it into sodic?
. More than 15 (B) Between 5 and 10
(C) Between 10 and 13 (D) More than 25
134. Evapo-transpiration is a measure of water loss from
(A) Soils (B) Plants
(C) Water bodies . BothA & B
135. Soil water content at which an indicator plant is at point of no return?
(A) Field capacity (B) Saturation
. Permanent wilting point (D) Hygroscopic coefficient
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136. Which irrigation technology is most efficient?
(A) Sprinkler (B) Mini sprinkler
(C) Surface @ prip

137. Which of these affect the soil formation?
(A) Parent material and time (B) Topography and organisms

(C) Climate . All of the above

138. Which is not a parasitic weed?
(A) Striga (B) Cascuta
. Cyperus (D) Orabanche
139. The zig-zag movement of the colloidal particles in soil when suspended in dispersion
medium is called
(A) Tyndal effect . Brownian movement
(C) Coagulation (D) None of the above

140. Which is an ideal technology for the management of plant diseases?
(A) Biological control (B) Chemical control
. Integrated disease management (D) None of the above

141. Red-rot disease is observed in which crop?
(A) Sorghum . Sugarcane
(C) Paddy (D) Bajra

142. Etiolation takes place in the absence of

A) CO, (B) Water

. Sunlight (D) Hormones
143. What causes leaf curl disease in cotton?

(A) Fungi @ virus

(C) Bacteria (D) Actinomycetes

144. What is the casual organism for wilt disease in Pigeonpea?
(A) Azatobactor (B) Erwinia
. Fusarium (D) Verticilium

AHS - MASTER | 17 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


145. The conversion factor for calculating P from P,0O, is

(A) P,0,x2.29 (B) Px0.44
(C) Px229 @ r.0. x04

146. Who announced Pradhan Mantri Krishi Sinchayee Yojana (PMKSY)?
. Shri. Narendra Modi (B) Dr. Manmohan Singh
(C) Shri. Sharad Pawar (D) Shri. Charan Singh

147. Adevice for measuring, leaching and percolation losses in a column of soil under controlled
condition is called as

(A) Infiltrometer (B) Evaporimeter
(C) Psychrometer . Lysimeter

148. A product used to attract male moths of insects is

(A) Alphamethrin (B) Fenvelrate . Pheromone (D) Ketons

149. Which is not a sucking pest?
(A) Aphids (B) Jassids (C) Whitefly @ Earias

150. In hydrometer method of analysis, the settling time is maximum for

(A) Fine sand @ c.y (C) Silt (D) Coarse sand

151. Chewing and cutting type of mouth is present in
(A) Jassids (B) Aphids (C) Whitefly @ Army worm

152. Slickensides are found in

(A) Aridisols (B) Inceptisols . Vertisols (D) Spodsols

153. The genetically modified crop variety being grown in Gujarat is

(A) Brinjal (B) Bhendi @ cotton (D) Maize

154. Which of the following is used as bio-pesticide?

(A) Helminthosporium oryzae (B) Phytophthora spp.

(C) Alternaria spp. . Verticillium lacanii
155. Which is the mango hopper?

. Idioscopus clypealis (B) Drosicha mangifera

(C) Dacus dorsalis (D) Chlumetia transversa
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156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

Which one is top shoot borer of sugarcane?
(A) Orseolia oryzae . Scirpophaga excerptalis

(C) Sesamia inferens (D) Dicladispa armigera

Which is the shoot and fruit borer of Okra?

(A) Amrasca (B) Tetranychus

. Earias sp. (D) Helicoverpa

Aroma of earthy smell after first shower in monsoon is due to

(A) Bacteria . Actinomycetes

(C) Fungi (D) Nematodes

What is the diameter particle size of clay?

. Less than 0.002 mm (B) Between 0.003 and 0.03 mm
(C) Between 0.02 and 0.2 mm (D) More than 0.2 mm

The honeycomb structure is found in
. Laterite soil (B) Black soil (C) Alluvial soil (D) Sodic soil

Which clay mineral is maximum in black soils?

(A) Kaolinite (B) Illite (C) Vermiculite . Montmollionite
An organization responsible for the development of horticulture in India

(A) NATP @ ~uB (C) NAIP (D) IPM

State organization which is engaged in seed certification in Gujarat is

(A) GSFC @ Gssca (C) GLDC (D) GNFC

When was the Comprehensive Agro-business Policy introduced by Govt. of Gujarat?
(A) 2014 (B) 2018 @ 2016 (D) 2015

What is the name of the special purpose vehicle launched by Gujarat Government for
micro-irrigation?

(A) GAIC (B) GSHM (C) GSFC @ ccrce
Nodal agency for the promotion of biotechnology research in Gujarat is

(A) AAU B) GSSC (C) GNFC . GSBTM
GCMMF is the lead agency for the marketing of which of the commodity?

(A) Millets (B) Fruits & vegetables

@ i (D) Meat
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168. Which is the apex body in the country for policy making and R&D in agriculture sector?

(A) TARI (B) IVRI @ 1car (D) IHR
169. How much assistance per year is being given to farmers under PM-Kisan Sanman Nidhi
Yojana?
(A) Rs. 10,000 (B) Rs. 8,000 (C) Rs. 7,000 @ Rs. 6,000
170. Which is not a commercial crop of Gujarat?
(A) Cotton . Jute (C) Tobacco (D) Sugarcane
171. Rashtriya Krishi Vikas Yojana was started in which year?
(A) 2004 (B) 2005 (C) 2006 @ 2007
172. Which is the nodal agency for estimating cost of cultivation of agricultural commodities?
(A) NFSM (B) TASRI @ cacr (D) MOEF
173. Maximum N content is in which fertilizer?
(A) Urea (B) Ammonium sulfate
(C) Calcium ammonium nitrate . Anhydrous ammonia
174. Gujarat has the credit of getting GI status for which of the following crops?
(A) Castor (B) Groundnut
(C) Cotton @ Bhalia wheat
175. Which is a plant of high medicinal value?
@ cugeu (B) Gerbera (C) Lily (D) Marigold
176. Grand Naine is a popular variety of which crop?
(A) Mango (B) Sapota . Banana (D) Papaya
177. Gujarat Agricultural University was established in the year
@ v (B) 1970 (C) 2004 (D) 1982
178. Golden rice is rich in
(A) Vitamin D @ vitamin A (C) Vitamin C (D) Vitamin K
179. Normally the photo-periodic requirement of rice plant is
(A) Long day . Short day (C) Intermediate (D) Day neutral
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180. Which of the following is a water soluble fertilizer that is recommended to be used for

fertigation?

(A) Super phosphate (B) Rock phosphate

(C) Basic slag . Urea
181. Phenyl mercuric acetate (PMA) is used as

(A) Antitranspirant (B) Fungicide

@ BohasB (D) Weedicide
182. Who coined the term "ever green revolution'?

(A) VL Chopra @ M.s. swaminathan

(C) RS Paroda (D) BPPal
183. In which year the historic book Origin of Species by Darwin was published?

(A) 1895 . 1859 (C) 1875 (D) 1849
184. Photosynthesis takes place in which organelle of cell?

(A) Mitochondria (B) Golgi bodies

. Chloroplast (D) Endoplasmic reticulum
185. If only one irrigation is available, at which stage should it be given to wheat?

. CRI (B) Tillering (C) Jointing (D) Dough
186. Which are the major anions in sodic water?

. Bicarbonate and carbonate (B) Phosphate and nitrate

(C) Chloride and sulphate (D) Flouride and bromide
187. What is the percentage of phosphorus in DAP?

(A) 40 . 46 <o 32 D) 52
188. How much is one quintal?

. 100 kg (B) 1000 kg (C) 250 kg D) 10kg
189. In which form is nitrogen absorbed by plants?

(A) Nitrite . Nitrate (C) Nitrous oxide (D) None of these
190. Rayan (Manikera hexandra) is used as root stock for

(A) Mango (B) Jamun (C) Grapes . Sapota
191. What is a cybrid?

. Somatic hybrid (B) Genetic hybrid

(C) Intra specific hybrid (D) None of these
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192. What is hypertrophy?
. Enlargement of a tissue due to increase in size of its cells
(B) Abnormal increase in cell number of an organ
(C) Inhibition of growth
(D) None of these

193. Who coined the term 'heterosis'?

(A) Hull @ shun (C) Devenport (D) East

194. Tetrazolium test is performed to know

(A) Seed chemical quality (B) Seed mixtures

. Seed viability/germination (D) Seed physical purity
195. Delinting of cotton seed is done by which acid?

. Sulphuric acid (B) Ascorbic acid

(C) Tartaric acid (D) Carbonic acid

196. Which fruit contains highest amount of ascorbic acid?

(A) Apple . Aonla (C) Orange (D) Mango

197. Which of the following is an example of abiotic stress?

(A) Insect attack (B) Fungal attack
(C) Nematode attack . Soil salinity
198. How many hectares have come under micro irrigation in Gujarat?
(A) 2 lakhs @ More than 10 1akhs
(C) Slakhs (D) 7lakhs
199. When did India become a member of WTO?
(A) 1996 (B) 1981 @ 1995 (D) 1994
200. Who is the Chairman of NITI Aayog?
(A) President of India (B) Vice-President of India
. Prime Minister (D) Speaker of LS
201. Which agricultural university released first Bt cotton hybrid in Gujarat in 2012?
(A) AAU Anand @ NAU Navsari
(C) SDAU SK Nagar (D) JAU Junagadh
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202 The stomatal index directly affects the
(A) Respiration . Rate of transpiration
(C) Microbial population in the soil (D) None of the above

203. Which agency is responsible for export promotion of agriculture products in India?
(A) NAFED (B) APMCs @ Arepa (D) STC

204. National Co-operative Development Corporation was set up in the year
(A) 1952 (B) 1962 @ 1963 (D) 1971

205. Which is a non-ruminant animal?

(A) Sheep @ norse (C) BothA&B (D) None

206. Which animal has wallowing habit?
(A) Cow (B) Sheep (C) Horse @ Bufialo

207. An egg shell is composed of

(A) Ca,(PO)), (B) Ca(OH), (C) CaO . CaCoO,
208. What does IPR stand for?

(A) Indian property right (B) Individual property right

(C) International property right . Intellectual property right

209. Which test is required before registration/patenting of a variety?
(A) DUD . DUS (C) DDS (D) Any one of these

210. During grafting or budding union takes place through which tissues?
(A) Xylem @ cambium (C) Phloem (D) Cortex

211. Which plant is used for indication of Permanent Wilting Point?
(A) Safflower (B) Paddy (C) Wheat . Sunflower

212. Flared square in cotton is the indication of damage by

(A) Mealy bug (B) Helicoverpa
. Earias sp. (D) Spodoptera
213. The electrical conductivity of a soil will affect the
. Osmotic potential (B) Gravitational potential
(C) Matric potential (D) None of these
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214. The meat of adult sheep is known as

(A) Pork @ Mutton (C) Beef (D) Lamb
215. Which is the lead bank for agricultural finance in the country?

. NABARD (B) SBI (C) ICICI Bank (D) HDFC Bank
216. Who was the initiator of Etawah project?

(A) JL Nehru (B) M K Gandhi

. Albert Mayer (D) Vinoba Bhave
217. Where is National Institute of Agricultural Marketing located?

. Jaipur (B) Jhansi (C) Jabalpur (D) Jorhat
218. Milk is deficient in which element?

(A) Nitrogen . Iron (C) Potassium (D) Phosphorus
219. First cloning in animals was successfully done in

(A) Cow @ shcep (C) Buffalo (D) Goat
220. What is the use of a reaper?

. Crop harvesting (B) Cutting and threshing

(C) Cutting and winnowing (D) None of the above
221. Seedlessness in grapes is due to

(A) Parthenogenesis . Parthenocarpy

(C) Self-incompatibility (D) Ovule sterility
222. Which of the following is not propagated by the plant tissue culture commercially?

(A) Banana (B) Gerbera . Wheat (D) Sugarcane
223. The damaging stage of white grub attack is

(A) Nymph . Grub and adult

(C) Larva (D) Nymph and larva

224. Maximum edible oil in India is contributed by
(A) Safflower (B) Cotton (C) Coconut . Groundnut

225. What does ESP refer to with respect to soil?
. Exchangeable sodium percentage
(B) Excess sodium percentage

(C) Exchangeable saturation percentage

(D) Excess saturation point
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226. Vector for leaf curl disease in chilly

(A) Grasshoppers (B) Aphid (C) Mealy bug . Whitefly
227. Propagation of Gladiolus is generally done through

(A) Tuber (B) Rhizome . Corm (D) Root
228. Grow-out test of seeds is done for

(A) Viability . Genetic purity

(C) Germination (D) Physical purity

229. The infamous Bengal famine of 1943 caused serious damage to rice crop due to
(A) Pyricularia oryzae (B) Collectotrichum falcatum

(C) Fusarium udum . Helminthosporium oryzae

230. Who proposed the double helical structure of DNA?
(A) Hargovind Khurana (B) Batson & Punnel
. Watson & Crick (D) Beadle & Totum

231. Little leaf disease in brinjal is caused by which organism?

(A) Actinomycetes (B) Fungi

. Mycoplasma/Phytoplasma (D) Virus
232. Which amino acid increases in plants under drought?

(A) Alanine (B) Lysine (C) Methionine . Proline
233. Growth of the plants towards or away from the light is called as

(A) Photosynthesis (B) Photorespiration

. Phototropism (D) None of the above
234. Maleic Hydrazide is a hormone used to

. Suppress growth (B) Enhance growth

(C) Induce rooting (D) Promote germination

235. Which deficiency causes Whiptail disease in cauliflower?
(A) Copper (B) Manganese
. Molybdenum (D) Magnesium

236. Which plant has Kranz type of leaf anatomy?
(A) Soyabean . Maize (C) C3 Plants (D) Sapota
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237. Who introduced T & V system of extension in India?

(A) M Anderson (B) M Jacksom . D Benor (D) KD Kokate
238. Which disease is transferred from cattle to human?

(A) Foot-rot (B) FMD (C) Rinderpest . Anthrax
239. The Sl unit of solar irradiation

(A) Joule . Watts per square meter

(C) Lux (D) Cal/cm*/minute
240. Akhiochi disease in rice is due to

. Hydrogen sulphide toxicity (B) Zinc deficiency

(C) TIron toxicity (D) Phosphorus deficiency
241. The efficiency of surface irrigation is

(A) 70 to 80 per cent . 30 to 50 per cent

(C) 10 to 15 per cent (D) More than 90 per cent

242. The agroclimatic zone V of Gujarat State represents
(A) Semi arid to dry sub humid climate . Arid to semi arid climate

(C) Sub humid climate (D) None of the above

243. What does ATMA stand for?
(A) Agriculture Technology Management Association
. Agriculture Technology Management Agency
(C) Agriculture Technology Mission Agency
(D) None of these

244. Blue revolution is associated with
(A) Agricultural crops (B) Milk
(C) Meat . Fisheries

245. Reasons behind low crop productivity in India
(A) Financial constraints

(B) Lack of complete knowledge of available technology
(C) Small holdings
. All of these

246. Which one of the following is a non-selective herbicide?
A 2,4,D (B) Atrazine
. Glphosate (D) None of the above
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247. What is the usual water potential of soil at field capacity?

@ -o0.330ars (B) -6 bars (C) -4bars (D) 0 bar
248. Name an instrument used to measure stomatal conductance.

(A) Anemometer (B) Manometer (C) Potometer . Leaf Porometer
249. Crop logging is done for

(A) Assessing crop damage due to insects

(B) Assessing crop damage due to diseases

. Assessment of soil fertility spatial variation

(D) None of the above
250. Broadcasting of an interview with an agricultural scientist in radio is

(A) Group extension method (B) Individual extension method

(C) Class room extension method . Mass media method
251. The meat of pig is known as

(A) Mutton (B) Chicken (C) Beef @ rorx
252. 'Operation Flood' is in the area of

(A) Integrated pulse production

(B) Integrated water resources management programme

. Integrated dairy development programme

(D) None of these
253. Which type of soil water is maximum available to the plants?

Capillary water (B) Hygroscopic water

(C) Gravitational water (D) None of the above
254. Deficiency of which nutrient causes Khera disease in rice?

(A) Mn (B) Cu @ » (D) Fe
255. A plant with 4n chromosomes will be called

(A) Diploid @ tetraploid

(C) Hexaploid (D) Polyploid
256. Amrapali is a cross between

(A) Dasheri X alphonso . Dasheri X neelam

(C) Neelam X alphonso (D) Dasheri X Kesar
257. What is the most commonly used method for genetic transformation?

(A) Protoplast fusion (B) Microinjection

. Agrobacterium mediated (D) Electro-transformation
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258. Why are fisheries industry so well developed in Gujarat?
(A) Flowing rivers . Long coastal line
(C) Most population eat fish (D) None of these
259. Which is Muriate of Potash?
(A) K, SO, @ xcL (C) KNO, (D) KH,PO,
260. Which of the following is associated with milk let-down?
(A) Prolactin @ oxytocin (C) ACH (D) None of these
261. Atmometer is used for
(A) Measuring atmospheric pressure . Measuring evaporation
(C) Measuring wind velocity (D) Measuring humidity
262. Which element helps translocation of sugars?
. Boron (B) Copper (C) Ca (D) Iron
263. A soil pH of 6.2 indicates that the soil is
(A) Neutral @ Acidic (C) Alkaline (D) Sodic
264. Which is the tallest breed of sheep in India?
(A) Sonadi (B) Deccani (C) Nali @ nNelore
265. Which plough is used for deep ploughing with minimum disturbance to surface soil?
(A) Mould board plough (B) Cultivator
(C) Disc harrow @ cnisel plough
266. An inter-specific hybrid is a cross between
(A) Same species of same genus . Different species of same genus
(C) Different genus (D) None of these
267. Food Corporation of India was established in
(A) 1971 (B) 1968 @ 1965 (D) 1955
268. Seeds used by farmers for commercial cultivation are known as
(A) Nucleus (B) Breeder . Certified (D) Foundation
269. A soil with less than 8.5 pH, less than 15 ESP and less than 4 dS/m of electrical
conductivity is
(A) Saline sodic (B) Non-saline sodic
. Non-saline non-sodic (D) Non-sodic saline
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270. The structure of a puddled soil is

(A) Crumb . Structureless
(C) Columnar (D) Platy
271. Under water-logged condition, carbon dioxide gets reduced to
(A) CO @ cn,
(C) CAHCO,) (D) None of the above

272. Available water is that held between
(A) Saturation and field capacity
(B) Wilting point and hygroscopic coefficient
. Field capacity and permanent wilting point
(D) Only at field capacity

273. UN declared 2016 as the International Year of

(A) Soils @ ruses

(C) Under-utilized crops (D) Family farming
274. Global warming is attributed to increase of which GHGs?

A) CO, (B) CH, (C) CFCs . All of these
275. Which ICAR institute is located at Boriavi, Anand?

(A) CDRI (B) CIMAP (C) ITRC . DMAPR
276. One of the most reputed institutes engaged in food technology research in India

. CFTRI (B) IFPRI

(C) CIPHET (D) None of these

277. Apical dominance is a phenomenon which occurs due to

A) GA (B) Cytokinin
. More production of Auxin (D) Ethylene
278. The recent unit for expressing soil salinity is
(A) Ohms . Deci Simens per meter
(C) Joules (D) None of the above

279. Who is funding KVKSs across the country?
(A) State Governments B) UGC
(C) CSIR @ 1car

280. National Dairy Development Board is headquartered in which State?
(A) Punjab (B) Rajasthan @ cGujarat (D) U.P.
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281.
282.

283.
284.

285.

286.

287.

288.

289.

290.

291.

292.

Land equivalent ratio (LER) is used to evaluate
(A) Land value (B) Soil fertility . Intercropping (D) None of these

Which is the largest coffee producing state in India?
(A) Kerala (B) Telangana (C) Tamil Nadu . Karnataka

When was the National Food Security Mission started?

(A) 2011-12 (B) 2009-10 . 2007-08 (D) 2013-14
Which organism causes Rinderpest disease?

(A) Fungi (B) Bacteria (C) Insect . Virus

Which network project was started for research on climate resilience?

. NICRA (B) NAIP (C) NATP (D) None of these

What is the colour of the tag of certified seed?

(A) Yellow (B) White (C) Red @ Bl

What is the purpose of silage making?

. Preservation of fodder in green form (B) Preservation of cereals

(C) Preservation of oilseeds (D) None of these

Planting of a crop on borders and as intermittent crop to protect from pests is called
(A) Catch crop . Trap crop

(C) Cover crop (D) Rogue crop

When was Pradhan Mantri Fasal Bhima Yojna (PMFBY) started?

(A) 2018 @ 2016 (C) 2014 (D) 2017
A loamy soil is one where

(A) Clay content is more than 50 per cent and sand 40 per cent

. Sand : Silt : Clay are in almost equal proportion

(C) The sand content is more than 80 per cent
(D) The clay content is less than 5 per cent and sand 90 per cent

What is the source of oxygen during photosynthesis?
(A) €O, (B) Air @ water (D) None of the above

Dehorning of cattle is done
(A) For aesthetic purpose (B) For better reproduction
. For economic and safety reasons (D) To improve drought strength
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293. Nobilization technique is profitably utilized in the development of

(A) Paddy @ sugarcane (C) Potato (D) None of the above
294. Waterlogging conditions lead to the formation of which gas in the soil?

(A) Butane @ cn, (C) CO, (D) Ethylene
295. Spongy tissue in mango is

(A) Bacterial disease . Physiological disease

(C) Fungal disease (D) Viral infection

296. What does NARS refer to?
(A) National Agricultural Research Stream
. National Agricultural Research System
(C) National Agricultural Review System
(D) National Ayurvedic Research Stream

297. The historic cotton research centre in Surat was started in which year?
@ 189 (B) 1905 (C) 1960 (D) 1950

298. Which university of Gujarat was recently established for veterinary sciences?
. KU (B) SDAU (C) AAU (D) NAU
299. The approach of giving irrigation to a crop at specified stages under constraints of
irrigation water is called
(A) Climatological approach (B) Depth interval approach
(C) Soil moisture deficient approach . Critical stages approach

300. Which university developed CGH-7 variety of castor?
(A) JAU @ spau (C) RAU (D) HAU
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